= % x of et oA ARl A2?

1w i

© 2x2-5=2(x>-1) @ (x=-3)(x+1)=x*-4
® 3(x+1)=5(x+1) @ (x-5)(x+5)=25-x
® x?=(x-4)?



shei?

2-2x-15=09 &+

P4

12

o

@ x=-5E=x=3

@ x=-3

)
H

BEEx=1

X



o
=

o, a, b9 Gt

7+

=
=

OIAFYEA ¥ +ax+b=0°] FLx=-4

3.

i

a3

-

Ul

2



i
3

-

-



OJALAA k2 4 Ax-21=0 9] 2O x= -TEEx=3U 1], 49
Fe=s SE

-
ol
o

v
.









T y=2x"-8x+2 o I nof hF A F 2 A= BT
()

® Haolsstd y = 2x* + 1 9] I L} 3] Aol



9. OlAWAHA 2 —4x—12=0 9] 2 F 257 oIAEAHA &2 + 2ax +
a+2=02 %L a2 @

@® 3 @ 2 31 @ -2 & -3



10. o124 2x+6)(x-1) =82 (x—a)? =b 2] BZ 1H 0, ab
9 k& Fstolet.

D
=%



11.

o]i}%}@/ﬂ, ax? +bx+c= O(a +* 0) oﬂ EH?J— /gcg %1__%

@D b2 —ac>0°)H A2 o2 2 o] AL 7FACLY
@ b* —ac=0 ol o] girt.
@ b2 —4ac <0 oA 2 7o) k2 A28 F}A}

@ b =00l F2e 7MY}

® b% —4dac >0 oA A2 th2 2 /o] AL F}AL



12, oA AA (x+3)2 =x+8 Y F TS, pt T W, o - 208+ >
9] 3-& stofzt

D
=%



13. oA f(x) = —x* 4+ 5x -3 oA f(2) o h2?

@1 @ -1 ® 2 @ -2 ® 3



14. o3 olxpet4=9]
A2
O y=x2

2

[e)

o] oleh BESHAA Zo] 4

@ y=-3x2

@ y=2x*4+5

1] o
=



y)\

-3x2 42

@ y=

=-2x2 -1

@y

-3(x+2)?

@ y=

® y=-2(x+2)?

® y=2(x+2)?



o

_—

5 Al A

®
A1, 2 3
, 3, 4 A}

@
x5



17. y=-x2+4x-1 9 JHZE x
3 w3 3ol 5e 1e)me] 4



18. F oA A 2 +x-p=0,x>—gx—-8=09 &

2+ o) 3H& Fatola

5
=%

of



S

=

O|ZPAAl 32 +2x -4 =09 f7Fx = aig

[e])

l

o, a, b 2] G2



20.

Ol A 85 + 4x-2 = 0 9] F 2

34+ V10 ] gh& Fotofet

> S
=%

o






22.

©7Joje} Rol2 sk 7HA} Stk o] ZHAlA B2 Fok Bl 0.

SERSSE

o o] 41t} 3 uke] R © g oo] 49} Fojo] 49

F& 154 vhefoltt, 517 St B Rolo] +-8 Tstelet.

5 L
=%

ot



o] wol ] o] 58em? A ), ZH-& A7}

~~-10cm- -~

cm



24.

wmA A FEA (2, 1) 0], y Z7te] wA Q] FE} (0, 9) 2 0|2}
Ao Ay =ax? + bx+ ¢ 9 EZ YERYHA?

@y:x2_6x—|—9 @y:2X2—8x+9

® y=3x2-10x+9 @ y=-222+9

® y=-3x+11x-9



25.

97 A (-3,0), (1,0) oA ¥, A (-1, 4)
y =3 g o] HxE F5hH?

YA
14

\

\ x’

3 (0,3)




